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2. Attempt ALL Questions.
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be used throughout the paper.
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(a) Explain the concept of ‘income’ under the provisions of Income Tax Act,
1961. '

(b) Mr. S, an Indian actor left India for the first time to take up a foreign
assignment in USA on July 1, 2013 for shooting a film and stayed there till
he returned on 31 October, 2014, Determine the feéidential status of Mr. S
for the assessment year 2014-15.
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What is agricultural income and explain how it is treated for income tax

purposes ? (5+5+5)
OR

How will you determine the residential status of a company ? Can a company

be not ordinarily resident in India ?

Define “assessee” under the income tax act, 1961 and explain different types

of “assessees”.

Mr. N is not ordinarily resident in India for the assessment year 2014-135.

He furnishes the following particulars of his income for the previous year
2013-14.

(i) Income earned in Bangladesh but received in India. Rs. 4,40,000/-

(1)) Capital gain on sale of house situated in Pune

(Sale consideration is received in Nepal). Rs. 50,000

(i) Salary received in Bangladesh for rendering

services in Kolkota. : Rs. 50,000
(iv) Agricultural income from Sri Lanka. Rs. 1,00,000/-

(v) Profits of business carried on in Pakistan but
controlled from India ' Rs. 1,50,000/-
(Out of which Rs. 50,000/- was received in India).

Compute the total income of Mr. N for the assessment year 2014-15.

(5+5+5)

(F) 3 = IR 1961 N TR ® FA@E FE A FEEwEn Hl AR
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2. (a) Mr. T is a manager in a company at Indore since 1996. He has submitted

the following particulars of his income for the financial year 2013-14 :

(i) Basic salary Rs. 6,00,000 per annum.

(i) Dearness Allowance Rs. 12,000 p.m. (50% Forms part of salary for retirement
benefits).

(i) Education Allowance for three children @ Rs. 130 p.m. per child.

(iv) Commission received by him Rs. 20,000 (based on sales turnover achieved
by him).

(v) Entertainment Allowance Rs. 800 p.m.

(vi) He resides in leased house provided by the employer company for which the

company pays Rs. 11,000 p.m. as a rent of the house.

(vii) A watchman and cook is provided by company who were paid Rs. 400 p.m.

each.

(viii) The company has contributed Rs. 90,000 to his RPF account for which he
made matching contribution. Interest credited to his RPF @ 13% p.a.
amounted to Rs. 16,250 for the year.

(ix) His employer provided him with interest free loan of Rs. 20,000 to purchase

one laptop.
(x) Company paid professional tax of Rs. 2,000 on his behalf.
(xi) Received a dividend of Rs. 5,000 from Bajaj India Ltd., an Indian company.

(xii)) He paid LIC premium on the life of his married daughter; Rs. 20,000.
(Sum assured Rs. 2,00,000) ‘

(xiii) Donation to Prime Minister’s National Relief Fund : Rs. 10,000.



519 5

(x1iv} Donation paid to an approved charitable institution : Rs. 20,000.
(xv) Paid medical insurance premium on his wife’s health : Rs. 12,000

Compute total income and tax liability of Mr. T for the assessment year
2014-15. (15)

OR

(a) Mr. Mohit retires on 8.1.2014 after serving XYZ Ltd. for a period of 19
yedrs and 7 months. His basic salary since 01-02-2013 was Rs. 27,600
p.m. and he was also entitied to D.A. of Rs. 24,400 p.m. On his retirement,
he received Rs. 6,00,000 as gratuity. Determine the amount of gratuity exempt
under the income tax act for the assessment year 2014-15 if he is covered

under the payment of gratuity act, 1972.
(b} Explain Tax treatment of House Rent Allowance.

(c) List out five incomes which are exempt from Income Tax under section

10. (5+5+5)
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3. (a) Mr. Kumar owns a big house which has three independent residential units.
First unit (50% of the floor area) is let out for residential use on a monthly
rent of Rs. 18,000 (this unit is, however, used for his own residential purpose
from 16 January, 2014 to 15 March 2014). Unit 2 comprising 25% of the
floor area is used by him for his own residence while unit 3 comprising

another 25% is used for his own business.
Other particulars in respect of the house property are :
(i) Muniqipal valuation Rs. 3,84,000
(1) Municipal taxes paid Rs. 32,000
(i) Repairs Rs. 40,000
(iv) Ground rent Rs. 25,000
(v) Fire Insurance premium Rs. 20,000
(vi) Land revenues Rs. 10,000

Income of Mr. Kumar from business is:Rs.3,60,000 (without debiting

house rent). Determine taxable income of Mr. Kumar for the assessment year
2014-15. (15)

OR

(a) Mr DK owns a house, whose municipal value is Rs. 3,60,000 p.a. One
third (1/39 portion of the house is let out on a moﬁthly rent of 25,000 for
residential purposés and 2/3* portion is occupied by him for his own
residence. The construction of this house started on June 1, 2010 and was
completed on 1.11.2010. He incurs the following expenses in respect of the

house during the previous year. _
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(i) Municipal taxes paid was Rs. 36,000 p.a.

(ii) Repairs Rs. 30,000
(i) Ground rent Rs, 20,000
(iv) Insurance premium Rs. 20,000

A loan of Rs. 10,00,000 was taken on 1.7.2010 from SBI @ 12% p.a. for
construction of house property. And the entire loan amount is outstanding.

Find out his taxable income from house property for the assessment year
2014-15.

{b) Briefly explain the provisions relating to clubbing of income of minor child
U/s 64(1) A? (10+5)

Pz S = v w9 e @ R A T et afe € 1w gfe (wik S
50%) 18000 & W= MR W m%ﬁqﬁﬂmm%ﬁmmélaﬂrﬁuﬁgﬁzm
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4. (a) State giving reasons, whether the following are capital assets or not :
(1) Personal car and Air conditioner
(i) Gold held by a jeweller
(in) Residential house for personal use

(iv) Goodwill of a business (Self generated)

P.TO.
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(v) Right to subscribe for shares

Distinguish between “Short Term Capital Gain” and “Long Term Capital

Gain” ? What is the significance of this classification under the Income Tax
Act?

Explain the provisions of section 54B with respect to capital gains on sale
of agricultural land. (5+5+5).

OR

How would you compute book profit while calculating the business income
of a partnership firm ?

Discuss the provisions of section 43-B regarding certain expenditures allowed

on actual payment basis only.

X Ltd furnishes the following information :

Block I Plant and Machinery (consisting of three Plants)

Rate of depreciation 20% WDV on 01-04-2013
25,00,000

Block II Building (two buildings rate of

Depreciation 10% WDV on 01-04-2013
60,00,000

Purchased two Plants on 02-06-2013 for 20,00,000

Sold 4 plants on 30-11-2013 for 50,00,000

Compute the amount of admissible depreciation/capital gain for the assessment

year 2014-15. (5+5+5)

(F) ®rw IR qaEg e Feaffae e Ragfol @ o 8
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Briefly explain the provisions relating to set off and carry forward of losses

from speculative business.

State the provisions for deduction in respect of payment of interest on loan

taken for higher education under section 80E.

For whom e-filling of income-tax return is mandatory. {5+5+5)
OR
Discuss the provisions relating to deduction in respect of savings and

investments under section 80C.

Briefly explain the provisions relating to deduction in respect of Medical
Insurance (§80D).

Briefly discuss the judgment delivered by Hon’ble Supreme Court in the
case of CIT Vs Sheila Kaushish (1981). (5+5+5)

|1 A ¥ T A Ao T IR I F ¥ W aqensl € g8 3
R T |

I= fien @ fw oW 80 & e fow 0 ww W = &Y sernh A wey ¥
wetar & fory soaenal o1 Jeod AR |

ras v s a= B Ret o1 £- vl o sl 2 7
Jqar

URT 80C & HAeia ¥9dl AR AR & "R A weifaa @ Gaftra =yaearait o5t fda
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faftren §F 1 (80D) & IR A welfodl ¥ Gafta sraena & wey ¥ s SR )

CIT w1 fien Fifdrs (1981) & & ¥ w61 qatea = g7 e e folg &
e F e AR
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